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Question 1
Question Type: MultipleChoice

Which statement correctly describes the relation between a device and a measuring component?

Options: 
A- A device configuration links a device only to interval channels.

B- Two measuring components on the same device should have the same Units of Measure (UOM).

C- A device should have only one measuring component type.

D- A device can have any combination of interval and/or scalar measuring components.

Answer: 
D

Question 2
Question Type: MultipleChoice



Within the application, operational devices can be assets or components.

Which two statements are true about components? (Choose two.)

Options: 
A- Components are attached to assets.

B- Components have a disposition that tracks their location and status.

C- Components can be installed at locations.

D- Components are not a class of assets.

E- Components can't have specifications.

Answer: 
A, C

Question 3
Question Type: MultipleChoice

There has been a meter exchange at a service point in the past year.



How many installation events exist for the service point for the past year?

Options: 
A- Two

B- One

C- Four

D- None

E- Three

Answer: 
B

Question 4
Question Type: MultipleChoice

As part of the service order processing, the algorithm D1-CNSPINSDV (Connect SP and/or Install Device) determines if a specific

activity needs to be created based on the state of the service point.



Based on the status of the service point, what can this algorithm create?

Options: 
A- Device

B- Device Configuration

C- Smart Meter Command

D- Service Point

Answer: 
D

Question 5
Question Type: MultipleChoice

How many service agreements are linked to a severance process?

Options: 



A- all service agreements that are connected to the initiating overdue process

B- one

C- any number defined by the business user

D- zero - accounts are linked to severance processes

E- all service agreements that are connected to the initiating collection process

Answer: 
C

Question 6
Question Type: MultipleChoice

Which entity defines the type of collection process to start based on age of debt, amount of debt, and type of customer?

Options: 
A- Debt Class

B- Customer Class



C- Collection Class Control

D- Collection Class

E- Collection Process Template

Answer: 
A

Question 7
Question Type: MultipleChoice

Which configuration steps are required to derive loss-adjusted kWh on a measuring component based on a loss factor value related to a

service point?

Options: 
A- Configure a Service Point Characteristic Type and derivation algorithm, and then associate the algorithm to the Measuring

Component Type and the characteristic value to the service point.

B- Configure an SQI and the derivation algorithm, and then associate the algorithm to the Measuring Component Type and SQI to the

service point.



C- Configure a factor and derivation algorithm, and then associate the factor to the Measuring Component Type and the derivation

algorithm to the service point.

D- Configure a factor and derivation algorithm, and then associate both to the Measuring Component Type and service point.

E- Configure a Service Point Characteristic Type, factor, derivation algorithm, and Service Quantity Identifier (SQI), and then associate

the SQI and derivation algorithm to the Measuring Component Type and the characteristic value to the service point.

Answer: 
B
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